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Ideals for irreducible component#ﬂ)f Xpar

I = (w* +u®® + -+ 3u+1)

* 1 irreducible components of dim¢ = 0, with total 41 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
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w + Tur? + 1600 + 1108 — 208 + 1

—u'* — 8u'? — 23010 — 2848 — 14ub — 4u* + u2>

w? +5u” + Tub +2ud +u
W+ 1209+ — 203 4w
uB +13u + 23 +u

4u® + 4u? )

0
aio = \u
1
a5 — u2
u
a1 = \ud+u
w? 41
ag = \y? + 242
—U
ag = U
—ud —2ud +u
ay = W+ 3ud+u
as = < 14
u’ +
ag =
ag = (
a7 = (

—u3T =200 + - 4+ 20 —u
w210+t

wW 21U+ +ud +u

—u3T =200 + -+ 20 —u
a7 =

(ii) Obstruction class = —1

(iii) Cusp Shapes

=400 4+ 4439 + .- + 16u + 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! utt = 3uf0 4 — w1

Ca, Cg, C7 e+t + o pu—1
s utt — w0 .. 43370 — 41

4,65, 09 utt = Bu— 1

€10

s utt — w1270 — 61
c11 utt — 11?0 121 - 11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 y41_y40+_._+5y_1

C2, Cg, C7 y' =3y iy -1
cs y*t + 11y*0 + - — 26979y — 1681

C4,C5, C9 y41+47y40++y_1

€10

Cs y* —13y* + - + 51997y — 3721
c11 y*t =5yt 4275y — 121




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.503221 + 0.6905921

3.83065 — 9.565041

6.30600 + 8.624951

u = —0.503221 — 0.6905921

3.83065 + 9.56504.1

6.30600 — 8.624951

u = —0.185294 + 0.8164321

1.86460 + 3.447781

2.94863 — 1.785701

u = —0.185294 — 0.8164321

1.86460 — 3.447781

2.94863 + 1.785701

u= 0474941 4 0.6893291

—1.56642 + 6.056541

1.56838 — 8.606551

u= 0474941 — 0.6893291

—1.56642 — 6.056541

1.56838 + 8.606551

u = —0.362848 + 0.7208331

—0.40127 — 2.843661

1.98426 + 5.434631

u = —0.362848 — 0.7208331

—0.40127 + 2.843661

1.98426 — 5.434631

u= 0.251523 4+ 0.7496101

—2.99086 — 0.250851

—2.71271 + 0.092331

u= 0.251523 — 0.7496101

—2.99086 + 0.250851

—2.71271 — 0.092331

u = —0.423712 4 0.6499151

—0.19628 — 2.434721

4.58629 + 3.615181

u = —0.423712 — 0.6499151

—0.19628 + 2.434721

4.58629 — 3.615181

u = 0.490024 + 0.5851501

5.86406 + 0.884981

9.39506 — 3.490051

u = 0.490024 — 0.5851501

5.86406 — 0.884981

9.39506 + 3.490051

u=0.526987 4 0.3320811

6.59801 + 2.648821

11.65137 — 3.900417

u= 0.526987 —0.3320811

6.59801 — 2.648821

11.65137 4 3.900411

u = —0.580129 + 0.1969671

5.27082 4 5.859361

9.90370 — 3.390561

u = —0.580129 — 0.1969671

5.27082 — 5.859361

9.90370 + 3.390561

u= 0.534664 4 0.1748191

—0.08359 — 2.568101

5.39788 + 3.594601

u= 0.534664 — 0.1748191

—0.08359 + 2.568101

5.39788 — 3.594601

uw= 0.05112 + 1.447441 1.03962 + 4.498481 0
u= 0.05112 — 1.4474471 1.03962 — 4.498481 0
u = —0.02545 + 1.481671 —4.74796 — 1.766071 0
u = —0.02545 — 1.481671 —4.74796 4 1.766071 0

u = —0.423895 + 0.2741331

0.917102 — 0.5961051

8.98647 + 4.740961

u = —0.423895 — 0.2741331

0.917102 4 0.5961051

8.98647 — 4.740961

u = —0.485948

1.66824

7.38980

u= 0.13066 + 1.564761 —1.36673 + 3.097991 0
u= 0.13066 — 1.564761 —1.36673 — 3.097991 0
u = —0.12154 + 1.593861 —7.84552 — 4.444271 0




Solutions to I V—1(vol ++/=1CS) | Cusp shape
u = —0.12154 — 1.593861 —7.84552 4 4.444271 0
u= 0.13746 + 1.601571 —9.34338 + 8.332151 0
u= 0.13746 — 1.601571 —9.34338 — 8.332151 0
u = —0.14703 4+ 1.601331 —3.93253 — 11.983807 0
u = —0.14703 — 1.601331 —3.93253 + 11.983801 0
u = —0.10039 + 1.607971 —8.35529 — 4.562291 0
u = —0.10039 — 1.607971 —8.35529 4 4.562291 0
U 0.07637 4+ 1.610917 —11.05980 + 1.013401 0
u= 0.07637 — 1.610911 —11.05980 — 1.013401 0
u = —0.05726 + 1.616021 —6.40559 4 2.511907 0
u = —0.05726 — 1.616021 —6.40559 — 2.511907 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 R (IR |
2, Cg, C7 ut ot a1
C3 utt —9u' 4 -+ 337u — 41
C4,C5,C9 u41_u40+...+3u—1
C10
Cs autt — w0 1270 — 61
i utt = 11u*0 1210 — 11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

Cl y41_y40++5y_1

€2, Cg, C7 yt =3y ey -1
€3 M+ 11940 + ... — 26979y — 1681

C4,Cs,Co y41+47y40++y—1

€10

Cs yM —13y%0 + ... 4 51997y — 3721
11 Yt — 5yt 4. — 275y — 121




